H
S
o

a(d cot(B))

Ratio

o . HEEA .
C : 1| |+ :
............ P S " L 3 I
1 ' T :

-1 2 3 -1 2 3
10 1 TPlp())T (PCA t%obeamlin:elf) 10 1 TPlpg)T (PCA t%obeamlin:elf)
[—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

- — 1
IS IS
(5] O
= 8
= =
3 >
o e
9 —
B 5

1072

Ratio

T : - .
23 I A

2 3
TPl[g)T (PCA f})obeamlinéf)

Ratio




	Contents
	Page 1


